



#### 11032 159th Ave NE Granite Falls, WA 98252

PacTrust Matthew Oye	en		

Date	Bid #
7/21/2022	14111

Project

156th Expansion

Description	Qty	Rate	Total
156th Street NE Extension Marysville, WA 98252			
Plan revision 2 - 4.27.2022			
Plant pricing includes flagging, and fertilizer			
Buffer Enhancement Area 1 - 96,119sf			
Douglas Fir - 1 gal.	95	9.00	855.00T
Western Hemlock - 1 gal.	95	9.00	855.00T
Big-leaf Maple - 1 gal.	95	9.00	855.00T
Black Cottonwood - 1 gal.	290	9.00	2,610.00T
Western Red Cedar - 1 gal.	95	9.00	855.00T
Red Alder - 1 gal.	290	9.00	2,610.00T
Sitka Spruce - 1 gal.	460	9.00	4,140.00T
Red-Osier Dogwood - 1 gal.	260	9.00	2,340.00T
Nootka Rose - 1 gal.	460	9.00	4,140.00T
Snowberry - 1 gal.	460	9.00	4,140.00T
Thimbleberry - 1 gal.	360	9.00	3,240.00T
Tall Oregon Grape - 1 gal.	260	9.00	2,340.00T
Salmonberry - 1 gal.	260	9.00	2,340.00T
Black Hawthorn - 1 gal.	360	9.00	3,240.00T
Buffer Enhancement Area 2 - 91,250sf			
Douglas Fir - 1 gal.	80	9.00	720.00T
Western Hemlock - 1 gal.	80	9.00	720.00T
Big-leaf Maple - 1 gal.	80	9.00	720.00T
Black Cottonwood - 1 gal.	300	9.00	2,700.00T

Phone #	Fax#
(360)691-1810	(360)691-1819

Subtotal
Sales Tax (9.4%)
Total





## Art by Nature, Inc 11032 159th Ave NE Granite Falls, WA 98252

PacTrust Matthew Oyen			
J			

Date	Bid #
7/21/2022	14111

Project

156th Expansion

Description	Qty	Rate	Total
Western Red Cedar - 1 gal.	80	9.00	720.00T
Red Alder - 1 gal.	300	9.00	2,700.00T
Sitka Spruce - 1 gal.	430	9.00	3,870.00T
Red-Osier Dogwood - 1 gal.	240	9.00	2,160.00T
Nootka Rose - 1 gal.	430	9.00	3,870.00T
Snowberry - 1 gal.	430	9.00	3,870.00T
Thimbleberry - 1 gal.	350	9.00	3,150.00T
Tall Oregon Grape - 1 gal.	250	9.00	2,250.00T
Salmonberry - 1 gal.	250	9.00	2,250.00T
Black Hawthorn - 1 gal.	350	9.00	3,150.00T
Sub-Total			67,410.00
Buffer Restoration Area A - 1,660sf			
Vine Maple - 1 gal.	5	9.00	45.00T
Nootka Rose - 1 gal.	20	9.00	180.00T
Red-Osier Dogwood - 1 gal.	10	9.00	90.00T
Snowberry - 1 gal.	20	9.00	180.00T
Salal - 1 gal.	10	9.00	90.00T
Tall Oregon Grape - 1 gal.	10	9.00	90.00T
Sub-Total			675.00
Buffer Restoration Area B - 2,500sf			
Vine Maple - 1 gal.	10	9.00	90.00T
Nootka Rose - 1 gal.	35	9.00	315.00T
Red-Osier Dogwood - 1 gal.	10	9.00	90.00T
Snowberry - 1 gal.	35	9.00	315.00T

Phone #	Fax#
(360)691-1810	(360)691-1819

Subtotal
Sales Tax (9.4%)
Total





### 11032 159th Ave NE Granite Falls, WA 98252

PacTrust Matthew Oyen		
Matthew Oyen		

Date	Bid #
7/21/2022	14111

Project

156th Expansion

Description	Qty	Rate	Total
Salal - 1 gal.	10	9.00	90.00T
Tall Oregon Grape - 1 gal.	10	9.00	90.00T
Sub-Total			990.00
Buffer Restoration Area C - 1,918sf			
Vine Maple - 1 gal.	10	9.00	90.00T
Nootka Rose - 1 gal.	20	9.00	180.00T
Red-Osier Dogwood - 1 gal.	15	9.00	135.00T
Snowberry - 1 gal.	20	9.00	180.00T
Salal - 1 gal.	10	9.00	90.00T
Tall Oregon Grape - 1 gal.	10	9.00	90.00T
Sub-Total			765.00
Buffer Restoration Area D - 2,527sf			
Vine Maple - 1 gal.	10	9.00	90.00T
Nootka Rose - 1 gal.	35	9.00	315.00T
Red-Osier Dogwood - 1 gal.	10	9.00	90.00T
Snowberry - 1 gal.	35	9.00	315.00T
Salal - 1 gal.	10	9.00	90.00T
Tall Oregon Grape - 1 gal.	10	9.00	90.00T
Sub-Total			990.00
Mulch Rings (per plant)	7,490	1.50	11,235.00T
Sub-Total Sub-Total			11,235.00
Invasive Plant Removal			

Phone #	Fax#
(360)691-1810	(360)691-1819

Subtotal
Sales Tax (9.4%)
Total





# Granite Falls, WA 98252

PacTrust Matthew Oyen		

Date	Bid #
7/21/2022	14111

Project

156th Expansion

Description	Qty	Rate	Total
Spraying of Blackberries, and other invasives	1	6,200.00	6,200.00T
Sub-Total			6,200.00
Irrigation System			
Temporary Above Ground Irrigation	1	54,993.17	54,993.17T
Sub-Total			54,993.17
Fencing			
2-Rail Standard Split Rail - Rough Sawn-Unstained	2,012	14.50	29,174.00T
NGPA Type I Sign	26	65.00	1,690.00T
Sub-Total			30,864.00
Maintenance			
5-Year Maintenance	5	10,000.00	50,000.00T
Sub-Total			50,000.00
			0.00
Exclusions-			0.00
- Large woody debris. To be harvested and reused on-site.			
- Topsoil or Compost			
- Mulching of denuded vegatation TBD after site clearing			
and installation if necessary - Irrigation Sleeving, Water Meter, or Power to Controller.			
- Hydroseed or Straw			
- Maintenance & Removal of Invasive Species (can be			
performed at a rate of \$60.00/hr+ Dump Fees)			
- Rototilling			
- Rototining			

Phone #	Fax #
(360)691-1810	(360)691-1819

Subtotal	
Sales Tax (9.4%)	
Total	





## Art by Nature, Inc 11032 159th Ave NE Granite Falls, WA 98252

PacTrust		
Matthew Oyen		
Ž		

Date	Bid #
7/21/2022	14111

Project

156th Expansion

Description	Qty	Rate	Total
<ul> <li>- Due to inflation of gas prices, if per gallon prices raise above \$6.00 a fuel surcharge will apply.</li> <li>- Hand Watering</li> <li>- Plant material is subject to substitution due to season or availability.</li> <li>- Any deviation of quantities on this bid can be billed at its per unit cost as listed</li> <li>- Rock Raking, Straw Removal, or Trash Pick up for prep of site is billed out at \$60.00 per hour.</li> <li>- All Grades must provide adequate drainage prior to installation of landscaping.</li> <li>- All subgrades must be clear of vegetation and rocks prior to installation.</li> <li>- French Drains or Catch Basins</li> <li>- Art by Nature does not warranty any plant material, or sod/hydroseed without an Art by Nature installed irrigation system, and a 1 year Maintenance contract with Art by Nature.</li> <li>- All prices valid for 30 days.</li> <li>- Any traffic control needed to be provided by General Contractor</li> </ul>			

Phone #	Fax#
(360)691-1810	(360)691-1819

Subtotal	\$224,122.17
Sales Tax (9.4%)	\$21,067.48
Total	\$245,189.65